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Q.No: 1  Who has been termed as ‘Carnatic Sangeet Pitamaha'?

2427059
wifess Wi s 6 et T 82
Purandaradasa
A
qiERe™
Haripala
B
R
Venkatamakhi
c
Jpend
Tyagaraj
D
MRS

Correct Ans : A

Subject : General Knowledge

Q.No: 2 Who is the first woman test cricket captain of India?

2427510
HRT Bt Tl Afgen 2% e HwmE B 32
Santha Rangaswamy
A
HiyT R
Neelima Jogalkar
B
Hfern SR
Diana Edulji
C
ST gl
Shubhangi Kulkarni
D

i el
Correct Ans : A

Subject : General Knowledge

Q.No: 3 The D-Day invasion of June 6, 1944, took place in

2427581
6 T 1944 TT I1-S SAHAT o ger
France
A
pan|
Canada
B
HrST
Germany
C

et
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United Kingdom

TAReS freH
Correct Ans : A

Subject : General Knowledge

Q.No: 4 Choose the incorrect match regarding recent merger of Banks

2430663
BT F g1 31 T e F Fay § e B a1 99 B
Andhra Bank merged with Union Bank of India
A
siter Y 1 g S sife S & fae
Oriental Bank of commerce merged with Punjab Bank
B
e S i Bivd 1 dorg S § faea
Syndicate Bank merged with Canara Bank
c
RifdPe ¥ &1 11 §% & faew
Dena Bank merged with SBI
D

3T % o1 Tadien A e

Correct Ans : D

Subject : General Knowledge

Q.No: 5  Which of the following is an e-commerce company?

2434479
e & A 3 & w § Bl ol § 2
Hero Honda
A
R et
Myntra
B
o
Maruti
C
AR
medanta
D
BTt

Correct Ans : B

Subject : General Knowledge

Q.No: 6 Who among the following was known as the Napoleon of India?

2435870
Frofafea # 4 58 Ra o1 A0RET Fe1 S a1
Kumargupta
A
PHRTA
Chandragupta II
B
Y 1T
Skundagupta
C
il
Samudragupta
D
g

Correct Ans : D

Subject : General Knowledge

GET IT ON

Google Play
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Q.No: 7 Which Gupta ruler first assumed the title of Maharajadhiraj?

2435892
P G I AGS 7 FATUH FERIGIERIS B ST 4RO 1 2t
Chandragupta II
A
T fefa
Chandragupta I
B
I wuH
Samudragupta
C
Rkein]
Kumaragupta
D
PHRTEA

Correct Ans : B

Subject : General Knowledge

Q.No: 8  with which of its neighbouring country India has Kalapani territorial dispute?

2437347
HRA & 0 wERT AW & Wy prarr &5 e 82
Nepal
A
Aare
Bangladesh
B
SR
Pakistan
C
Licas ]
Sri Lanka
D
st

Correct Ans : A

Subject : General Knowledge

Q.No: 9 Which one of the following styles is associated with devotional music?

2440735
Frofafea & & -3 i uida wha § dedifta 82
Khayal
A
|
Dhrupad
B
(AR
Tappa
C
<apr
Thumari
D
Elal

Correct Ans : B

Subject : General Knowledge

Q.No: 10 Ajaz Patel became 3rd Bowler to take 10 Wickets in an Innings, he hails from which country?
2440811

oISl 9 T Ut 10 fadre 39 o iR feame o9, 98 fra am § §2
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India
A

HRA

Sri Lanka
B

et

England
C

e

New Zealand
D

i

Correct Ans : D

Subject : General Knowledge

Q.No: 11 How much amount is given in Kishore Kumar Samman?

2441007

IR FAR T 7 e iy < ot @2

Rs.1 lakh
A

1 9 R

Rs.2 lakh
B

2 T F W

Rs.3 lakh
Cc

3 U T

Rs.5 lakh
D

5 U ¥

Correct Ans : B

Subject : General Knowledge

Q.No: 12 In which year the Nav Jawan Sabha was established at Khandwa?

2441122
Gear & 79 S T St w5 o g8 o
1930
A
1930
1931
B
1931
1932
C
1932
1933
D
1933

Correct Ans : B

Subject : General Knowledge

Q.No: 13 Jain pilgrimage/jpg centre Bawangaja, belongs to which century?
2441149

S ciefere ramTe, frg Wl 31 82

14th century

14 & zaredt
B 15th century
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15 o st

16th century
C

16 f wreredt

17th century
D

17 & et
Correct Ans : B

Subject : General Knowledge

Q.No: 14 In which year Dr. Anil Kakodkar became the chairman of Bhabha Atomic Research Centre?

2441298
3T, ST DIHISIR 5T T HTHT TRAN] SIUH $5 & 3(eae g7
1988
A
1988
1996
B
1996
1999
C
1999
2001
D
2001

Correct Ans : B

Subject : General Knowledge

Q.No: 15 Where is Vikram University located in Madhya Pradesh?

2441513
nie v ¥ g fayfaemea el R &2
Ratlam
A
dH
Ujjain
B
I
Dhar
C
4R
Mhow
D
R

Correct Ans : B

Subject : General Knowledge

Q.No: 16 Madhya Pradesh has a total forest area of -

2441566
IR H FAHT T
4%

A
4%
12%

B
12%

C 17.67%
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17.67%

30.72%

30.72%
Correct Ans : D

Subject : General Knowledge

Q.No: 17 How many Seats does the State of Madhya Pradesh has in the Council of States?

2441730

e Y 9 H et Bt ufwe I frat WiE g2

09
A

09

11
B

11

13
c

13

16
D

16

Correct Ans : B

Subject : General Knowledge

Q.No: 18 Which district of Madhya Pradesh has the first panchayat in the state to achieve the target of 100 per cent vaccination against COVID-19?

2441771
T T BT P G o § FIfTs-19 F e Ia-Ufawia S & qed P U B aren Iod B Ygal Uamad 87
Shahdol
A
ST
Sidhi
B
et
Dindori
c
[SE
Balaghat
D
EINICI

Correct Ans : A

Subject : General Knowledge

Q.No: 19 As per the Census 2011, the overall population density of Madhya Pradesh in per sq. km is -

2441774
SRTUAT 2011 & AR A Yoxl &1 ol S a9 Ul o fasedt §
343
A
343
298
B
298
236
C
236
201
D
201

Correct Ans : C
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Subject : General Knowledge

Q.No: 20 Which popular crop is known by its scientific name Cicer Arietinum?

2441800
8 Il Hoa S FaS AqHS TH Y gL & S oIel @2
Chick-pea
A
IRt =1
Lentil
B
R
Mustard
C
S|
Soybean
D
S

Correct Ans : A

Subject : General Knowledge

Q.No: 21  What is important to prevent the infectious diseases?

2423019

Hepwies AT b1 Apl o o Hgeaqul 82

Vaccination
A

&t

Adspection
B

e

Acidification
Cc

Cesicau)

Medication
D

S fRy-srirT

Correct Ans : A

Subject : General Science

Q.No: 22 What is important for growth?

2423038
faeprer & fog sl @2
Money
A
sl
Health
B
EC
Plants
C
weH
Sunlight
D
qaRe

Correct Ans : B

Subject : General Science

Q.No: 23 Consumption of contaminated food can lead to-
2423056
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g A & d I @ THar B-

Health development

A
e s
Disease
B
T
Fatness
C
Hera
Hormone secretion
D

THHA 9T
Correct Ans : B

Subject : General Science

Q.No: 24 The shape of our milky way galaxy is .

2425767
FAN SMPTIRRT ST AR 3
Elliptical
A
& PR
Spiral
B
wftfer
circular
C
e
Square
D
if

Correct Ans : B

Subject : General Science

Q.No: 25 A ball rolling on the ground slows down and finally stops. This is due to the effect of :

2425823
Sl R geadt U g il 8 St § SR Sid # ¥ St 81 98 3% UM F HRTE:
Pressure
A
koI
Friction
B
THg
Force
Cc
qd
Muscualr force
D

Uil g

Correct Ans : B

Subject : General Science

Q.No: 26 Match the following:
2428753

1 Tuna, minnows and goldfish a Fishes

2 Amoeba and paramaedum b Arthropoda

[5)

Silverfish, crabs, dragonfly c Protozoans
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Frafafaa @ fiem:

T | o, e SR g woe a | woa
2 3raT HR R b FmifatsT
TREaRTE, FFS, FTATATS ¢ Elamic

w

1-a, 2-b, 3-c

1-a, 2-b, 3-c

1-b, 2-c, 3-a

1-b, 2-c, 3-a
1-c, 2-b, 3-a

1-c, 2-b, 3-a
1-a, 2-¢, 3-b

1-a, 2-¢, 3-b
Correct Ans : D

Subject : General Science

Q.No: 27 Check the odd one out:

2428788
fawm 3 sifg
pseudopodia chiefly present.
A
i T w0 & Hg 31
pseudopodia used for locomotion and food catching
B
RIS &1 S TREE R e T 3 R R o 8
amoeba and entamoeba
C
spftar SR Geremdar
bread mold
D

S Hies

Correct Ans : D

Subject : General Science

Q.No: 28 Which of the following is the largest taxonomic category?

2428793
Fraffea # 4 #1798 331 affe! Joft §2
kingdom
A
sy
genus
B
S
family
C
IRaR
Phylum/division
D

g / fedom

Correct Ans : A

Subject : General Science

Q.No: 29 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2429194 the correct answer to the question from the given options.
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Assertion (A):Water is not wasted at all.

Reason (R): Drip system provides water to plants drop by drop.

e T uy & G wuF 8 e & 0F o "afiEuan SR g B PR S T F A9 5 T R 1 TPt 39 IR Sl 3 graurigdd JiF B § IR fou e fawedt # | 9y &1 9 SW

M (A): TR waig el g 8

PR (R) : f37 yuiedt el &) -5 urh Iuass 1 3

Both A and R are true

A

T IR R I I 86

Both A and R are false
B

T 3R 3R QA o §

A is true but R is false.
C

TH § A IR I R

A is false but R is true.
D

T 39 ¥ A Ok e B
Correct Ans : A

Subject : General Science

Q.No: 30 The theory of evolution was proposed by -

2429862
faoraaTe @1 Rigia fHud gRI st fear mar o -
Darwin
A
S
Theophrastus
B
ity
Linnaeus
C
fofag
Aristotle
D
SR,

Correct Ans : A

Subject : General Science

Q.No: 31 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2429876 the correct answer to the question from the given options.

Assertion : (A) Toad , bufo and hyla belongs to the amphibians.

Reason: (R) they have three chambered heart and no scales are present over their skin.

frdm: Foffed wy & < o= § A 0 &1 sifiuan SiR R &1 BRI & FU H A9 501 71 §1 S1UBT 37 < S B FayHIgde Sa S § 9 T e o § § uy &1 98 SW
3HfFE: (T) oS, IHI SR TIRa JHTRI I Tl §1
PR (R) 37 g2l # 41 $4 81 § 3R I8! @ R B Ted ANE 781 8 &

(R) is true but (A) is false.

A
(R) & 8 A (A) T &1
(A) is true but (R) is false
B
(A) ¥ & AT (R) T @
(A) is false.
C

(A) Ted 81

ID\ ic tho ravract rancan far (AY
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AN 1D LIS LUIITLL 1 Sasuin 1ul (Mg

(R) (A) & g TSR0 Y
Correct Ans : D

Subject : General Science

Q.No: 32 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2430054 the correct answer to the question from the given options.

Assertion(A): Sometimes you may notice black powder or white discs floating on the pickle or murabba, when a jar is opened after a long time.

Reason(R): The black powder or white disc that floats on the pickle or murabba is basically fungal growth.

R FEffed vy & & HuF § R 3 T 1 i oIk G B PR & T § A9 61 T 71 SHT 37 G HuRl Bt GradrigdE wig e § SR 3T e fwedt 8 § uy 31 9 SW
3T (A) @ F-Ff, ST AR T PR R FIT TIPSR 1 Wibg 33 IR U &F GHhd ©, 99 U od I & a1G U IR @il ol 21
FHRIT (IR): TR IT TR TR ORA FTE HTen WSS A1 The 586 qd FY ¥ 9 3fa 3

Both A and R are true

A

A SRR TA T

Both A and R are false
B

A IR R 3l e

A is true but R is false.
C

A T 3 AP R 3@ B

A is false but R is true.
D

A AR AFTRITRI
Correct Ans : A

Subject : General Science

Q.No: 33 Which one is not an essential requirement for producing fire?

2430169
T I HRA B R B 9 SAf¥ard arawaden T8 82
Fuel
A
FLgl
Heat
B
e
Oxygen
C
Sffeiter
Carbon dioxide
D

FE STIHTITS
Correct Ans : D

Subject : General Science

Q.No: 34 is a change that occurs periodically or at regular intervals.
2430191

T IREd § S THE-TEg WR 1 O siavrd W S )

Endothermic

et

Exothermic

Suadt

C Physical change
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Ruriiteahitent)

Periodic change

Safie giad

Correct Ans : D

Subject : General Science

Q.No: 35 The nucleus is surrounded by a jelly-like substance called

2432166
Fud T ol SR e AR g Sl _____ e o
Stomata
A
e
Cytoplasm
B
SR 5
Mitochondria
C
I
Cell membrane
D

P et
Correct Ans : B

Subject : General Science

(22"\‘202: 366 A x B means A is the brother of B. B + C means B is the son of C. C-D means C is the husband of D.
422467 § _E means D is the grandmother if E. E * B means E is the son of B. How E is related to A?

AxBHEIFATEABF ST B+CHITEFB, CH IR CDFITIC, DHFUMABID-E
FIATEF D, AT AR EIE *BHFHTTE, B FTIA 5] E, A ¥ Y Hafad §?

Uncle
A

=l

Nephew
B

e

Niece
c

et

Aunt
D

=

Correct Ans : B

Subject : General Reasoning

Q.No: 37 In the following question, a series of letters is given. Some letters have been removed in these series, and they are in the options given below the series in the same order as |
2422663 gnoyld be. Study the given series carefully out of the four alternatives given below, and find the one that best fits in place of the missing letter of the series.

aca__ac__ a__ac

oo uy 7 seri o1 U e <t T §1 3 e ¥ $o seR ger iRy M ¥, ok 3 e & H o T fawedt & St ww H § ORF 3% g afgul R feu u AR fawedt # § < 1S gaen ot
ST HY IR P F G &Rl F ™M W I8 [3ped Tl o Fa¥ Iugad gl
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babc

aaac
C

aaac

cacc
D

cacc

Correct Ans : D

Subject : General Reasoning

Q.No: 38 In the following question, a series of letters is given. Some letters have been removed in these series, and they are in the options given below the series in the same order as
2422666 ghould be. Study the given series carefully out of the four alternatives given below, and find the one that best fits in place of the missing letter of the series.

aabc__bacc__aba__bcb__acc

fuferaa oy & sierl @1 U gaan & S 1 37 Saensi ¥ $ ofeR ge AU e €, oiR A gaar & 9 R T fiwed § I ow § € O 3% 9 aigwl AR R e AR et § & & 78 g &1
T B IR TN F J ekl F R | T8 [aFed G o Iad g gl

aabc__bacc__aba__bchb acc

aabb
A

aabb

babb
B

babb

bach
C

bach

bcab
D

bcab

Correct Ans : D

Subject : General Reasoning

Q.No: 39 Find the odd word out.
2424556

SR V&g HT TG Hifor|

Yashwant Sinha

A
T R
Nirmala Sitaraman
B
Refen Ryare
Manohar Parrikar
(9
FieR uivaR
N.D Tiwari
D
. 3. foerdt

Correct Ans : C

Subject : General Reasoning

‘221-"\‘2%44302 Select the option /number which is related to 3*¢ number in the same way as 24 number is related to a
1t number?
82:216::31:7?
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3W TEAT /AFeT F 797 HT A HY TSI T 3 TSR TaOd § S g0 T&A T8

T O F@Efea &
82:216:31:?
2
A
4
B
4
C
6
8
D
8

Correct Ans : D

Subject : General Reasoning

Q.No: 41 In the given figure, Triangle represents LED, Circle represents Display and Square represents LCD.

2426569
/ * 8 |19
61 7 53
How many Displays are of LCD?
fou U oS , By Tesl @1 ufatfia o 8, 39 e 31 ufafiie T ¢ SR & Torisl 1 v s 1
N N
61 7 53
LCD & foran fewt ¥2
8
A
8
17
B
17
19
C
19
25
D
25

Correct Ans : D

Subject : General Reasoning

Q.No: 42 Which of the following diagram indicates best relation between Buffalo, Farm Animal and Animals?
2426791

frafafed & 9 o1 W i@ 19, | Uy 9IR THa & 39 999 o a9 P Qa1 87
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O
OO

O
OO

® @B ®

Correct Ans : A

Subject : General Reasoning

Q.No: 43 Select the Lettered pair that has the same relationship as given in the questions:
2426816

Optimistic : Pessimistic

JY HER T P 997 B foraepT et weil F A 0w Wey § g
181G L IR E NN e

Difficult : Impossible

A
e : SR
Study : Play
B
ST : A
Tolerating : Disgusting
C
g : R
Export : import
D

fafa : smm
Correct Ans : D

Subject : General Reasoning

Q.No: 44 Select the option that is related to the third term in the same way as the second term is related to the first term.
2429560

NINE : ENIN :: FROM : ?

I fAHed &1 709 FX ol R Ug | I UHR Yeifia ¥ O gIR1 UG Ued Ue I Heiid R

NINE : ENIN :: FROM : ?
MROF

MROF
MOFR

MOFR
MORF

MORF
D MRFO
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MRFO

Correct Ans : C

Subject : General Reasoning

Q.No: 45 Read all the information and answer the question.

2429587
A + B means ‘A is the mother of B';
A - B means ‘A is the brother of B’;
A x B means ‘A is the father of B’;
A + B means ‘A is the daughter of B’;
How is L related to M in the expression M x N = J + R + L?
Touf SR o U iR Uy BT IW I
A+ BT 3 § A, B I AR
A-BFHIRT A, BFUE Y,
A x BHT 3§ A, B PRI
A+BHAfEA BB TRE,;
Y@M x N-J + R+ LA L, M I 50 usR Gaifra 82
Daughter-in-Law

A
Y
Son-in-law

B
TG
Son

C
kel
Daughter

D
o

Correct Ans : B

Subject : General Reasoning

Q.No: 46 C and D are young ones of E. If E is the father of C but D is not the son of E. How are D and E related?

2429609
C 3R D, EY &0 3U F 1 4% E, C &1 a1 § AfF D, E 31 37 711 81 D 3R E 5 bR waifdra &2
Daughter and Father
A
T SR far
Niece and Uncle
B
elfoft 3R sfea
Nephew and Uncle
C
e SR s
Daughter and Mother
D

g 3R A
Correct Ans : A

Subject : General Reasoning

Q.No: 47 Which answer figure will complete the pattern in the question figure?
2433201

ya

P o IR Pl Uy erpfa H e @t gof Huite
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Vi
74
A
B
4
c
)/
/
D
/

Correct Ans : B

Subject : General Reasoning

Q.No: 48 A specific analogy is given in the question below. Understand the logic behind it and choose the correct option for the next part:

2434099
A:@::Q:?
i frg g wer 3w oy wrgew e wan ) T e R o s F g
T e 79w R
A:@::Q:?
A
B
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Correct Ans : B

Subject : General Reasoning

Q.No: 49 In the following question, select the odd number pair from the given alternatives.

2435072
Frofafaa vy 7 oy e fawed # & faw gen gm a1 g
7-49-343
A
7-49-343
11-121-1331
B
11-121-1331
3-9-27
o
3-9-27
4-8-64
D
4-8-64

Correct Ans : D

Subject : General Reasoning

Q.No: 50 How many triangles are in the given figure?

2437703
& g el H e By €7
20
A
20
19
B
19
14
c
14

GET IT ON

Google Play
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18

Correct Ans : D

Subject : General Reasoning

Q.No: 51 Three of the following four number-pairs are alike in a certain way and one is different. Find the odd one out.

2438869
Frofafea =R Jen -gm A 3 dF ve P o  defta @ o i @ a2 37
1113 : 153
A
1113 : 153
161:81
B
161:81
93:117
c
93:117
133:171
D
133:171

Correct Ans : C

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440197 logically consistent with the main statement.

If we respect national flag, we will respect our nation
A. We respected national flag

B. We did not respect national flag

C. we respected our nation

D. we did not respect our nation

o Tu gy H 4@ HF SR IS 918 TR HUF §| Y F1 BT G T, 61 Ugd HYT Bl I gk U I 7, R & FUF Aifdd FY ¥ T FUF ¥ W T
I §7 TR G BT TR A 8, A GH (U Y BT IR B

A. B T 39 BT TE FA §

B. 9 T s T WM e fomar

C. G 3 MY B M fbar

D. AT 3197 XY BT IR TG o

AC
A

AC

BC
B

BC

DA
C

DA

CD
D

CD

Correct Ans : A

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440385 |ggically consistent with the main statement.

White gown looks either classic or dull
A. White gown looked classic

B. White gown did not look classic

C White gown looked dull

D. White gown did not look dull
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o e gy H g HF SR IUF 916 IR HUA §| YT B i G gH, OT8T Ted HUF B aedd gER U A §, AR < $UF difhs T9 F T $3F § T 7
Tl MR A1 A FARGE 7 AR e &

A. e TS RIS o1 QT 01

B. Wihg M IS Tel Tl T8 of

C. Fhg TS R T a1 o

D. |G ST R e o ¥eT AT

AB
A

AB

DB
B

DB

cD
C

CcD

BC
D

BC

Correct Ans : D

Subject : General Reasoning

Q.No: 54 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440394 logically consistent with the main statement.

The computer was hacked by either the operator or the hacker
A. The computer was hacked by the operator

B. The computer was not hacked by the operator

C. The computer was hacked by the hacker

D. The computer was not hacked by the hacker.

o T gy H gEr B SR SUF 918 IR BUA §| U B HET GH G, ST61 Ted HUT B didd gk DU 4 §, iR & FUF difbe FU ¥ T3 $YF Y T 7
R P SHORER U1 FHR GRT § a1 Trar o1

A. TR B U GRI 35 R o mar o1

B. $WLR Bl HTOex GRT 8% &1 v 71T o1

C. PR BT §PX A F B fomm ar

D. $UYER B G 7 8 T o o1

AB
A

AB

DA
B

DA

CA
C

CA

BD
D

BD

Correct Ans : B

Subject : General Reasoning

Q.No: 55 Find the related group of letters from the given alternatives.
2441992

BACE : DACE :: FACE :

few e famedt & § Tefia Weg 31 Wig I |

BACE : DACE :: FACE :
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A HASE
HASE
B LACE
LACE
c CASE
CASE
HACE
L HACE

Correct Ans : D

Subject : General Reasoning

QNO: 56 qir fife 56 136 £9 < (6 <77 = 8 X 3
3422301 Smmplify:56-[36-{9+(6+72+8x2)}]

A DI 56-[36- {9+ (6+ 728 x 2)}] _

59
A

59

53
B

53

52
C

52

51
D

51

Correct Ans : B

Subject : General Maths

Q.No: 57 3 HY Y +[560 < + + &
QNo: 57 - Simplify: 2100+ [560 + {966+ (21090 10 4)}]

TR BIE 2100 +[560 + {966 +(210+90 =10 x 4)}]

880
A

880

364
B

364

328
C

328

560
D

560

Correct Ans : C

Subject : General Maths

Q.No: 58 In how much time would Rs. 25000 amount to Rs.31460 at 6% per annum compound interest?
2423648

& o & 6% U af Iwafe S B &R § 25000 FU, 31460 I FY SCI?

2 years
A

29y

2.5 years
B

2.5 3¢

4 years
C

4y
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D 1 year

19

Correct Ans : A

Subject : General Maths

Q.No: 59 Three years ago, the population of a town was 67700. If the annual increase during three successive years be at the rate of 9%, 11% and 12% respectively, find the present
2423663 population.

7 I Ug, TP WeR @1 SEed 67700 2R ik N st ol & IRM aitfe i HER: 9%, 11% SR 12% @t ER ¥ Rl §, @ aAN SFRE 91 Sier
Rs.16871.387

A
Rs.16871.387
Rs.91739.4576
B
Rs.91739.4676
Rs.65489.2376
C
Rs.65489.2376
Rs.3487.654
D
Rs.3487.654

Correct Ans : B

Subject : General Maths

Q.No: 60 Solve:

2428629
{2744 + 14-290f 13+ 93 x 7-430f 7 + [81 + 9 + 123 0f 2 - 31 x 3 + (87 x 2 - 19 of 26)]}
TP
{2744 - 14 - 139129+ 93 X 7 -7D143 + [81 + 9+ 2H1123 - 31 x 3 + (87 x 2 - 26 91 19)]}
11
A
11
10
B
10
5
C
5
6
D
6

Correct Ans : A
Subject : General Maths

Q.No: 61 The average age of husband, wife and their child 3 years ago was 27 years and that of wife and the child 5 years ago was 20 years. The present age of the husband is:

2432578

3 9 od ufd, Telt 3R 3% 5= @1 oiia g 27 a9 ot 3R 5 9 ud uelt ok a= I ofra amg 20 o o ufy & fuE oy T &2

30
A

30

40
B

40

50
o

50
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60

Correct Ans : B

Subject : General Maths

Q.No: 62 a x=1 b x=3
2434699 ¢ (E) =(~) , then the value of x is:
a

If (E)H =(%)H:Fﬁ x hIHMH %

1

A
1
2
1
B
1
2
c
2
N
2
D
7
2

Correct Ans : C

Subject : General Maths

Q.No: 63 (m‘ L)

-
1 4 .

2434749 15 4 L = 5 then the value of ~—— 2L s
m me=3m+1

4, L
R mt L= 53 A0 o gt

m m+1

53
A

53

56
B

56

54
C

54

55
D

55

Correct Ans : D

Subject : General Maths

2;,’;‘1;7"749 If (3x + 2y)3 + (3x — 2y)° = 3kx(3x2 + 4y?), then the value of k will be:

TfE (3x + 2y) + (3x — 2y)* = 3kx(3x2 + 4y2), B <l k T HH BITN:

A 6
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18

18

3
Correct Ans : A

Subject : General Maths

Q.No: 65 The ratio of cost price and selling price is 9 : 7, the loss per cent is:

2435224
TG e 3R 3550 Y 1 3 9:7 ©, B1F vlimid 91d %1
204
9
A
20
o
6%
B
62%
c
g,
36.7%
D
36.7%

Correct Ans : C

Subject : General Maths

Q.No: 66 Mohan sells two items at the same price. If he sells one of them at a profit of 20 % and other at a loss of 20 %, find the percentage profit/loss.

2435244
e U € T W 31 9% 391 §1 IS T8 ST T TH BT 20% F T W AR 3 B 20% I 81 W Fa3a1 ¢, o Wi an / g 91 P
4% loss
A
4 % 7
3% loss
B
3%
10% loss
C
10 % B
20% loss
D
20 % gf

Correct Ans : A

Subject : General Maths

Q.No: 67 A shopkeeper gives 20% discount to all customers and gives an additional 25% discount (on the discounted price) to his family members on purchase of a shirt. The amount p
2435304 gpe of his family members to purchase a shirt is Rs. 750, then what is the marked price of the shirt?

TF gHMER Tl TGS B 20% I FT 31 § 3R T IE TieT R 30 IRaR & Fewi 1 sfalRed 25% Fe (Fe a1 G W) &l g1 S9% URAR & 5t Tew gR1 3¢ Wi F g ymam &
¥. 750, 1 W F1 SHfha e T §?

A Rs. 1250
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1250 T
Rs. 1000

1000 T9
Rs. 800

800 T9
Rs. 1100

1100 ¥

Correct Ans : A
Subject : General Maths

Q.No: 68 There are 78 hats, 20 of them are pink and the rest are yellow. How many yellow hats are there?

2437482
78 At &, 390 & 20 Taet ¥ SR I G 1 ¥ A 1 A et A 2
98
A
98
58
B
58
68
C
68
88
D
88

Correct Ans : B
Subject : General Maths

Q.No: 69  Which of them is non-terminating decimals fraction:
2437502

won
el 515

78 q PH-31 S exmad fird )

$ W
R S

1and 2

13k 2
2and 3

23R 3
1,2and 3

1,23R3
1and3

13k 3

Correct Ans : A
Subject : General Maths
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Q.No: 70 A herd of cows gives 12 litres of milk each day. But each cow gives one-third Milk of total milk each day. They give 108 litres milk in nine days. How many cows are there in th

2437562
T 1 U S UAw R 12 ieR gy A ¥1 A T T v R 3 g 7 wo-foets &t 813 R # 108 iR gy & 1 g H o ma ¥
2
A
2
3
B
3
4
c
4
5
D
5

Correct Ans : B

Subject : General Maths

Q.No: 71 If in a symbolic language ‘WATCH' is written *XBUDI’ then ‘CLOCK’ will be written in the same language as?

2422551
gfe fpedt Fissfos T & "WATCH' &1 'XBUDI' T ST df 'CLOCK' &1 It Wiy  forar simam foresi?
BMNDJ
A
BMNDJ
DKPBL
B
DKPBL
BMMPBL
C
DKPBL
DMPDL
D
DMPDL

Correct Ans : D
Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘PARENT’ is written ‘BDFGIK’ and ‘CHILDREN’ is written ‘MOXQUFGJ’ then ‘REPRINT’ will be written in the same language as?

2422581
Tfg it Fihfam et & 'PARENT' &1 'BDFGIK' foram STl € #iR 'CHILDREN' &1 'MOXQUFG)' feraT S § & 'REPRINT' &1 It 11 7 ferar smawm forit?
FGBFXGD
A
FGBFXGD
BGBFXJK
B
BGBFXJK
FGBUXJK
C
FGBUXJK
FGBFXJK
D
FGBFXJK

Correct Ans : D

Subject : Mental Ability

Q.No: 73 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430262 commonly known facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.
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Statement: The Bank of Shikarpur move to auction 25 metric tonnes of gold drew plenty of bidders looking for a bargain, but was criticised by major gold producers worldwid
Conclusions:
1. The Bank of Shikarpur should not auction gold which it possesses to keep steady international prices of gold.

I1. Persons should quote higher gold prices to retain present value of gold in thenational markets.

Frofafaa ust &, & Fu= 31 Fspy 1, 11 37 SFIR0 IR § SIS Gl YAl TR R S G, 43 & 3 SR W 1 all § Uedid g9 i1 snue! 1 2T 7 wue & afg freed 81 dl w1 99

P §F offts RBRE 7 25 Hfed o 99 31 Franft & g Searh t qam & 9ga IR Sieierarsi 1 srefia e, A gfar R F uge 99 & Ides! 1 T9a! seiE 3t
s

L. §% 3P RSRE F T1 ) Aar T61 S AR Ot I66 a9 T 3 RR SR Fid! o1 77 7@ & [ )

11. ‘safeRkrdl Y AL SR A W & A 1o 1 1Y 3 & A AR 1 et Bl T IR0 37 =iey

Only conclusion I follows

A
e Frepd T 3Ry &RaT &
Only conclusion II follows
B
Paq FpY 11 SFFER BT §
Either I or II follows
C
1A I 97 IT SRR Hal &
Neither I nor II follows
D

T I R AR LT TR FReAl §
Correct Ans : D
Subject : Mental Ability

Q.No: 74 If BACKSPACE is written as ECAPSKCAB then how is HYPERLINK written in the same coded language?

2434402

I BACKSPACE &1 ECAPSKCAB & &4 # ferar ot St e w1 & HYPERLINK &1 39 ferar simarm?

KNILREPYH
A

KNILREPYH

MINLREYPH
B

MINLREYPH

KINLREYPJ
C

KINLREYPJ

KIMLREYPH
D

KIMLREYPH

Correct Ans : A
Subject : Mental Ability

Q.No: 75 In a certain code language, LIFE is written as GIMB. TOWN is written as ZNIW. How will STAR be written as in that language?

2434438

T A Foe T B, LIFE S GIMB & ¥4 # {1 ST §1 TOWN &1 ZNIW & 9 H foram a1 §1 STAR &1 39 U1 § &9 feran smemme

LINR
A

LINR

KHOS
B

KHOS

LHTR
c

LHTR

D KIOR
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KIOR
Correct Ans : C
Subject : Mental Ability

Q.No: 76 Nik Rank third in a class. Shiv is sixth from the last, if Tushar is fourth after Nik and just in the middle of Nik and Shiv, then how many students are there in the class?

2435334
P T FM A TN RII R ITITI VAR, R IR, FFF IR VAR IN T R RaF s S F g, T Fen & fFa sm g
14
A
14
15
B
15
16
c
16
20
D
20

Correct Ans : C

Subject : Mental Ability

Q.No: 77 In question below are three statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance fi
2435474 commonly facts and then decide which of the given conclusions logically follows from the given statements.

Statements:

I. All coaching are schools.

II. All schools are colleges.

II1. All colleges are university.
Conclusions:

1. Some university are schools.

II. All colleges are coaching.

1 3w g iy A i @y Ry e § s arg &) e 1 6R 11 iU T 81 sue! AT Y wuHt e HEAT 8, WA B 3 A a9 e vl 910 € SR R ag R 5 e e fag e @
b T SRR ol

FU:
1. 9t Sif pa g

11. 3 wpa Bio §1

111 g wias gRaRid g1
e

1. $% gMaftd wa g
11. ot Sl B B

Neither conclusion I nor II follows.

T s 1 30R AT & 1T SrgERr e B

Either conclusion I or II follows.

7 o ISy 19 1T 3RO B B

Only conclusion I follows.

Pad ey 1T SgER B

Both conclusions I and II follows.

2 Py 1 iR 11 SRR YA §
Correct Ans : C
Subject : Mental Ability

Q.No: 78 Two statements are given followed by thee conclusions numbered I, II and III. Assuming the statements to be true even if they seem to be at variance with commonly known
2435534 (ecide which of the conclusions logically follow(s) the statements.
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Statements:

No Zoho is a Gmail.
Some Gmail are Yahoo.
Conclusions:

1. Some Yahoo are Zoho.
II. All Yahoo can be Zoho.

II1. No Gmail is a Yahoo.

YR F 915 A Fise 1, 17 SR 111 T U B T U e B I 7N 1 @ S T Tia aadt % oy e wRa &, @ fofa 3 6 g e s & § o a1 R e e @1 aifhe U 3
Exc ik

DY

P ST S T B

T S g 7

e,

L 99 U e &I

11, Tt a1g S8 & 9a &
111. 1§ S a1g =1t §1

Only conclusion I follows.

Fa P 1 SRy HRar )

Only conclusion II follows

P Y 1T TR0 BT §

None of the conclusions follow.

5 o Frepef srgemor 16 v B1

Only conclusion III follows

Faq ey 11T SRR HRat 1
Correct Ans : C
Subject : Mental Ability

Q.No: 79 How many small cubes are obtained when we cut the cube using six cuts, which are distributed evenly in the three planes X, Y and 2?

2438394
T4 §H B Pl BT STAN SRS T B BIed § , S A aat X, Y HR Z H 9AE w9 ¥ fakd 8 ¥
AR BR AW G ?

9

A
9
6

B
6
8

o
8
27

D
27

Correct Ans : D
Subject : Mental Ability

g‘.‘No: 807 In the following question, the statements are followed by conclusions. Study the conclusions based on the given statements and select the appropriate option as your answer.
3888 Statements:
M>A2B=Q<P<l]s<Y
Conclusions:

ILA=Q

ILA>Q
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ol uy &, Fu & a1g frsed fu e 1 3w U S F oiuR R P 1 s Y SR SR SR ¥ U SugHd fadwed & 7999 R
DY

M>A2B=Qs<P<J]<Y
Fr:

LA=Q

ILA>Q

If only conclusion I is true

A
Ifg Faa e 1 90
If neither conclusion I nor II is true
B
ofe = o Prepd 1 IR AR 11 v §
If only conclusion II is true
Cc
afe Faa Frere 11 v ¥
If either conclusion I or II is true
D

ofg 71 ot e 191 11 9 @

Correct Ans : D

Subject : Mental Ability

%;'\‘32;:5%17 In the following question, the statements are followed by conclusions. Study the conclusions based on the given

statements and select the appropriate option as your answer.
Statements:

Xz2B=Y2Q, RSY>S

Conclusions:

I. R>Y

I.Q=25S

TFATITRET 93 &, FUAT & dIg, foisay 8T 917 &1

T 37T FAT & HTUR R AR T 37eadet i A 379 3T 0 §9 & S9Gad [daed & 99 F|
T

X2B=Y2Q;RSY>S

forsd:

I R>Y

I.Q2S

If only conclusion I is true

A
P e 199 R
If only conclusion II is true
B
Faa Frepd 11 ¥ §
If either conclusion I or conclusion II is true
C
g o e
If neither conclusion I nor conclusion II is true
D

TFafefIdRT@IITTR
Correct Ans : D
Subject : Mental Ability

Q.No: 82 In the question given below, two statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance f
2439093 commonly known facts. You have to decide which of the given conclusions, if any follow from the given statements.

Statements:

All pickles are packets.

Some packets are not pockets.
Conclusions:

1. Some pickles are pockets.

II. Some pickles are not pockets.
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= g T vy 7 1 HuA T IUS Uy 31 R 191 11 T T § 1 et AT T S 1 A AT 8, M € 96 9au a9 P Tl B §F 9l Sl F SIUR TR SHOP] SO JWR GG |
T

Tl SR Ube B

$% Yae 99 T )

s

. $ 3[R 99 g

II. $F @R o T

Only conclusion II follows

e PP 1T ey ST §

Only conclusion I follows

g ey 1 SRy HRar 8

Both conclusion I and II follow

Frepef 1 3R 11 GFF TR A ¥

Neither conclusion I nor II follows

T4 Frsad 1 ok T & I SR HRar §
Correct Ans : D
Subject : Mental Ability

Q.No: 83 If'train’is called ‘bus’, ‘bus’ is called ‘tractor’, ‘tractor’ is called 'car’, ‘car’ is called ‘scooter’, scooter’ is called *bicycle’, bicycle’ is called *‘moped’, which is used to plough a field?
2439276

% ferg fvar ST 82

Train

Xt

CLl

Tractor

i

Car

BR
Correct Ans : D
Subject : Mental Ability

Q.No: 84 Arrange the following words as per their order in the dictionary.
2442726

1. Organ

2. Origin

3. Orient

4., Organic

5. Organise

Frafafea e o e # g 71 H9 & SgER e
1. Organ

2. Origin

3. Orient

4. Organic

5. Organise

1,5,3,4,2

1,5,3,4,2
B 1,5,4,3,2
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1,5,4,3,2

1,4,5,3,2
c

1,4,5,3,2

1,4,5,2,3
D

1,4,5,2,3

Correct Ans : C
Subject : Mental Ability

Q.No: 85 Arrange the following words as per their order in the English dictionary.
2442731

1. Approach

2. Appropriate

3. Approval

4. Approve

Frofafea weEt o el Tser & 3y T F7 & SR fifdw)
1. Approach

2. Appropriate

3. Approval

4. Approve
1,3,4,2

1,3,4,2
1,2,4,3

1,2,4,3
3,2,1,2

3,2,1,2
1,2,3,4

1,2,3,4
Correct Ans : D
Subject : Mental Ability

Q.No: 86
2423694 Ghanshyam can paint % of a painting in 144 days. How many days will he take to complete painting?

Emmﬁ?%ﬁﬁﬁmgmﬂH4%ﬁﬁﬁﬁﬂﬁﬁﬂm3ﬁ§ﬁﬁﬁﬁﬁﬁﬁﬁﬁwﬁﬂ

156
A

156

230
B

230

197
C

197

180
D

180

Correct Ans : A
Subject : General Aptitude

Q.No: 87 Working 7 hours a day, Ritik can copy a book in 17 days. How many hours a day should he work so as to finish the work in 13 days?
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2423716

Hiow 1@ G | 7 9 71 I T b F1 17 & # Hidt 3= goar g1 13 & # oW @@ o & e I 37 # fvan 9 om s afewe

2.9 hours/day
A

2.9 we/fT

7.8 hours/day
B

7.8 ¥e/fRT

4.65 hours/day
C

4.65 6e/fA

9.15 hours/day
D

9.15 He/f

Correct Ans : D

Subject : General Aptitude

Q.No: 88 Calculate the trapezium'’s surface area if length of its two parallel sides are a = 23 cm and b = 25 cm and distance between them is 12 cm.

2426201

TR I T Hag ST T PIOT TS &1 THMIR YOIl BT d918 a = 23 it iR b = 25 i § R & da st g 12 T 7

320 cm?
A

320 #HR

230 cm?
B

230 {H:

288 cm?
c

288 AR

150 em?
D

150 dr

Correct Ans : C

Subject : General Aptitude

Q.No: 89 Which of the following is divisible by 10?

2427599
Frofifea & 4 3 10 9 faursa 82
26890
A
26890
98765
B
98765
35762
c
35762
45987
D
45987

Correct Ans : A

Subject : General Aptitude

Q.No: 90 Which of the following is divisible by 5 but not 3?
2427612

PAufifEa B A 1 5 4 Rusa g AT 3 37 2
A 865315670
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865315670
654323465

654323465
87656788

87656788
387659124

387659124
Correct Ans : A

Subject : General Aptitude

Q.No: 91 Which of the following is divisible by 29?

2427643
e & @ S 29 @ faua 32
74158
A
74158
96310
B
96310
789342
c
789342
62170
D
62170

Correct Ans : C

Subject : General Aptitude

Q.No: 92 A person’s present age is two-fifth of the age of his mother. After 8 years, he will be one-half, of the age of his mother. How old is the mother at present?

M o fd  adam 31 IYDT HIT B MY D1 2 AT g1 8 Y qIg, 95 31l A BT 311y
DI 14T I ST IdHT 1 B 31 fhal g2.

A :gyears

TS

o e

Correct Ans : A

Subject : General Aptitude

Q.No: 93 Solve for x.

2431191
3(x+4)+8=>5x
x & [T g B |
3(x+4)+8=>5x
9

A
9
10

B
10
5

C
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6
Correct Ans : B

Subject : General Aptitude

Q.No: 94  Total cost of 3 tables and 2 chairs is Rs. 1300 and that of 2 tables and 3 chairs is Rs. 1200. Find the cost of one chair.
2431245 395 IR 2 FRI B Fa I F.1300 T 3R 2 T 9R 3 PRI 31 $0 0w 3.1200 §1 W TN F1 59 T Tazd|

Rs. 100
& 100 %.
B Rs. 150
150 %.
c Rs. 200
200 %.
D Rs. 250
250 7.

Correct Ans : €

Subject : General Aptitude

Q.No: 95 A ladder, 15 m long, reaches a window which is 9 m above the ground on one side of a street. Keeping its foot at the same point, the ladder is turned to the other side of the s
2431314 e5ch a window 12m high. What is the width of the street?

e 15 1 ol W v s qo ugud B, 51 fF el ¥ te we wag A 9 W TR ) umE g W wS e, W A et F gd e garn 9 8 9 ag 12 @ S (s Q) Reet o uged
TR, el P DTS W BIRw?

1lm

117

19 m

19
17m

17 4t
21m

21 7t

Correct Ans : D

Subject : General Aptitude

Q.No: 96  [fthe length of rectangle is decreased by 14.28% and breadth is increased by 20%.
2433731 \whar will be the effect on itarea (approx.)?

gt sma f7 ST 14.28% 1 FH7TE 9 § i FETE H 20% Frgfrfr sy
T AT (FTT) T FT T G272

40%
A

40%

42.5%
B

42.5%

37.14%
C

37.14%

28.56%
D

28.56%

Correct Ans : C

Subject : General Aptitude

Q.No: 97 The difference between the greatest and least five-digit numbers formed by the digits 2, 5, 0, 6, 8 is (repetition of digits are not allowed) -
2436167


https://applink.adda247.com/d/XhqWf9lSap

Addal247

2,5, 0,6, 8 3@l § &1 Ui F1T Go@ 9L SN 3R G B} TOT BT 3R § (36! B TRIGRT A T ) -

69552
A

69552

65925
B

65925

65952
C

65952

63952
D

63952

Correct Ans : C

Subject : General Aptitude

Q.No: 98 Find the smallest number of 6 digit which when divided by 3, 4, 5 and 6, gives remainder 2?

2436988

6 P! P I8 TIY BT WA 1A PIford ot 3, 4, 5 3R 6 | fyufod F=A W Ay 2 g9a1 32

100022
A

100022

100034
B

100034

100043
C

100043

100002
D

100002

Correct Ans : A
Subject : General Aptitude

Q.No: 99 The sum of all prime numbers between 20 and 60 is

2444523
20 3R 60 F g wult sreT GEASh F1 AT ©
320
A
320
326
B
326
357
c
357
363
D
363

Correct Ans : D

Subject : General Aptitude

Q.No: 100 What should come in place of question mark ‘?’ in the following number series?
2444698

2,3,10,39,?, 885

FreafaRed = 3 v g (2) & ®IF R &1 SR

GET IT ON
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2,3,10,39,7?, 885

72
A

72

172
B

172

126
C

126

113
D

113

Correct Ans : B

Subject : General Aptitude
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